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ΜΑΘΗΜΑΤΙΚΑ Ι ΓΕΝΙΚΗΣ ΠΑΙΔΕΙΑΣ  
ΕΠΑΛ Α΄ΟΜΑΔΑΣ 

 
ΑΠΑΝΤΗΣΕΙΣ 

ΘΘΕΕΜΜΑΑ  AA  

 
Α1) Σχολ. Βιβλίο – σελ. 234  
A2) α) Σ β) Σ γ) Λ δ) Λ ε)  Σ 

Α3) α)  
β

β

α
α

ημxdx συνx συνβ συνα      

β)      cf x c f x     

γ)  α α 1x αx    

  
ΘΘέέμμαα  ΒΒ  

 
Β1. 

   2 2 2

x 1 x 1
lim f x lim α x ln x α 1 ln1 α

  
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   
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 x 3 2
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 


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Β3. 
      2

x 1 x 1
lim f x lim f x f 1 α 4 α 2

  
        

 
 
ΘΘέέμμαα  ΓΓ    
 
Γ1.  

1 2 3 4v v v v v     

25 17 6 2 v     
50 v  
 

1
1

v 25
f % 100% 100% 50%

v 50
    

2
2

v 17
f % 100% 100% 34%

v 50
    

3
3

v 6
f % 100% 100% 12%

v 50
    
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4
4

v 2
f % 100% 100% 4%

v 50
    

 

Μισθός 
εκατοντάδες € 

Συχνότητα 
(αριθμός 

υπαλλήλων νi 

Σχετική 
Συχνότητα 

fi% 

xiνi 

6 25 50 150 
10 17 34 170 
15 6 12 90 
20 2 4 40 

Σύνολα ν = 50 100 450 
 
Γ2.  

1 1 2 2 3 3 4 4x v x v x v x v 450
x 9

v 50

  
    

 
Γ3.  
Το 84% των υπαλλήλων έχουν μισθό το πολύ 1000€ 
 
Γ4.  

       22 2 2
1 1 2 2 3 3 4 42 v x x v x x v x x v x x

S
v

      
   

 

       2 2 2 2
2 25 6 9 17 10 9 6 15 9 2 20 9

S
v

      
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       2 2 2 2
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S
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   
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2 25 9 17 1 6 36 2 121

S
50

      
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2 225 17 216 242 700

S 14
50 50

  
    

 
  
ΘΘέέμμαα  ΔΔ    
 
Δ1. 
     2

f x x 2 x α    

 

            2
f x 2 x 2 x α x 2 x 2 2x 2α x 2 x 2 3x 2α 2                

 
 



  ΠΑΝΕΛΛΑΔΙΚΕΣ ΕΞΕΤΑΣΕΙΣ 2013 
 

 3

Δ2. 
      f 4 0 4 2 3 4 2α 2 0 2 10 2α 0 10 2α 0 α 5                  

 
 
Δ3. 
    f x x 2 3x 12     

 f x 0 x 2 0 ή 3x 12 0        
x 2 ή x 4    

 
 
 
 
 
 
 
 
Δ4.  

  2 2 2f (x) g x 3x 12x 6x 24 3x 18x 24 0 x 6x 8 0              

4   

1,2 1 2
6 2

x x 4 ή x 2
2


     

 

     
4 4

2

2 2

E Ω f x g x dx 3x 12x 6x 24dx          

 
4

2

2

3x 18x 24dx   

 
 
 
 
 
 
 

   
4

42 3 2

2
2

E Ω 3x 18x 24 dx x 9x 24x            

 3 2 3 24 9 4 24 4 2 9 2 24 2             

64 144 96 8 36 48 200 196 4 τ.μ.           

f΄(x) 

f(x) 

+ –

2    4- +

+

Τ.Μ. 
 f 2 0

Τ.Ε.  
  f 4 4 

23x 18x 24  + –

2    4-  +

+


